2

YT 202547 B it il S A i R

= TR (RO B FREEA | IpsEtE R AR {ErE 1 AT ik
HWE R
I YNz THA R i —4 &) 360 200 A i 1) 4= Tl A ACD S A A
FHX
2 IRBINTY 21X A 5 S TR 2 [&p 140 AfETE 1 1) 4= 7 HACD 2 4 2
X
3 PRI TTREHEED i [eAp 175 ERER ] 1] 1) 4= Tl ACD S A
4 PRI Tk FE DM D AT 2 R [Edp 170 ERER ] 1] 1) 4= Tl R ACD S AR
(1T
5 R 1) A aom [N 220 AR B S
FHERX
6 TR e H— Fedp 640 i 1 1) A= TR ACDZE 5 AR
7 PRI T S rh h—% Redr 560 FRAA50 AL T 1) A A ACDE %
8 YIRS e B A A AR ENPI) 1300 SAETE T ARl ACDE S 4=
9 PRI T S 2 A i—4 ReAp 600 SAETE 1 1) A= AR WACDZE
10 PR R B BP0} 1000 EER T ) A T ACD 2 A
11 AN CHER D) 5B i —& [P 600 R AEA00 R AL T ) A= T ACD A
12 G B G B R i —% NP 300 A1k i 1) 2= A ACDSE S
13 ERYINT S 2 X P 3 A2 hi—4% Fedp 80 A1k i 1) 2= Tl A ACD S
14 TAYITH b 14 e S Sz B %)) 250 Ak 1 11 A= Tl A ACD 2 8 A
IR e TR N I 630 AT i A HICACD % 2
16 IRYITIT e — 92 2 i —4 [y 350 AfETE 1 1) 4= T ACD 2 2
17 IRYITHTHR W 2 b 2 [y 360 g (7] 1 1) 4= T ACD S 4 2
18 IR Tt w4 v 2 [ 500 1ETN 1 1) 4= i ACD 2 4
19 RIS b s [k 800 1ET (i 1) 4= T ACD S 4 2
A
20 PRI 2204 DR T 254 ('t [Ip 920 i) i) A= TR ACD S 4
-

A

1

i, k3|




5 SR (REXD & PR | Itk AR {ETE S tEld A | #ik
21 PRI # S0 Hh 15 S B FIp 2000 1T 1) 4= TlT A ACDE 5 A
22 VRN i 1 DR i i B [y 400 i 1 1) 4= T ACDEE 4
23 RYNT R R ihi—% [P 850 AR e A= il ACDE S 24
24 RIN ol 0 g 40 o 27 [ep 1400 EER 1 164 4= il ACD S A
25 [FAIINT A R) DXCHRE R A [E 2A AR 1000 ERER i) A= Tl ACD A 2
26 TR 2 Ry 180 kA i 1) A= Tl A dACD 8 A
27 PRINTIT 0 e X B 2 [&p 850 AfETE 1 1) 4= T ACD 4 2
28 IR A Wk rp o [P 520 G ETE 11 17) 4= Tl A ACD S A
29 SR e S G o 2 n—% [eAp 1000 AETE ) 4= T ACD A
30 e e FEap 500 ERERT 11 4 A ACD S
31 YT R ) 1000 EER e A A ACD S A
p Xl
32 RN 95 P B 2 A% FeAp 300 SAETE e A= R ACDE S 4=
33 I 3 g h—% Rap 960 AT T AT ACDEH A=
34 ERIIN T Pt S 2 K A% AP 500 AAETE T AT ACDE# A
35 RN R R R ERP)) 510 SAETE 1 17 4= T AR e ACD 2% AR
36 BRI AR X e e e 2 4 Redp 500 EiX i ) A= A ACD S 4=
37 SN DO He e eh B} 640 Ak E i 1) A= Al ACD R 42
38 FI 5 74 R R 600 AT [ 6] 4 17 HACD % R
X

39 TN e i ) 600 Ak i i) 4= i Al ACD S A
40 PRI epogep [y 560 ERER i A= TR ACD A 2
41 RN E N SR 2 [&p 700 AET 1 1) 2= 1T ACD 2 8 2
42 YN R [&Ap 360 1ET (i 1) 4= T H R ACD 4 2
43 IR T 005 oo 2 2 [p 300 kT 1 1) 4= TR ACDE 4 4
44 rl R S [Edp 450 AR i A= TR ACDE S

Pyl [

2,

37




5 SR (REXD & SRR | DR AR {ETE S tEld A | #ik
45 HINTE R FibE [&Ap 900 1T 1A 1) 4= Tl ACDE 5 A
46 FINAA F g FEap 400 AT 11 1) 4= Tl ACDE A
KHE
17 PRI Tl T W e 2 [ep 500 EER 1 164 4= il ACD S A

FI3W, W




